’lan on point 0000

2 TO0MS:

—
-
—
1]

| o~

5100

S L4 5T sg m
S = 5706 sgm Y 772185 cub m
Stlat = 10848 sg m Stlar = 166.55 sg m
Svis = 12829 sam Svis = 2007 sgm
Poo= 4159 rm P = 82061 m
O ,’”4//1;//’;//’;1 Zon m {//4///2
7 2 Z
- o 5/?
/ 7
77, 77, 77,
;/? C _ cgenm ?é S5 = 5>bsgm 5/2
- % Vo= Zi%8wbm % \S/ﬂuT: 272[7)85 CSU mm %
- 2/ Sflat = 2056 sq m g/ CUie - 24'68 g/
: //g Svis = 24597 sgm 4 jv‘gz 999' r mS ! ﬁ/g
6/4 > = 961 Mm % | %
7 77 7
7 %% 7
/ 7 /
- / A~ 7 — /Q‘ - ”ij
077 7/ |
% S = 32sqgm \ m
_ ii V = 1598 cu N7 _
& § Sflar = 18 sgm s m O
- e Svis = 2186 s ! -
ég D = [ 1 m |
R . 1l —|
O @QWW/W '//4/ r'//i — E’//'y/ 7
/ 77 77 /
Z
/ .
52 I S = 1029 sgm %
cop [ V. = 5146 cubm T
1 % =
0 ’ ! Sflat = 3042 sgm
% 723 ; Svis = 3629 sg m
% 5/2 > - 18091
7 S - 856 7 . o | |
Q- é/f V- %2820l W%%%WWWW%% 7
’ Stlat = 5155 S / ,,/
Z Svis - 376 s 74
4/2 P = 1379 rm ,/4 > = d>o/sgm
- % % Vo= L4728 cubm
A W /? Sflat = 2709 sq m
ee / g/ .
//f / Svis = 329 sgm =
2/4 g/ﬂ b - 1B7rm X
(D ?//’//// — =’¢WI/’;I Uit ///’///7///5’//7///7///7//’/7/}//;///;
/ / 7 |
£ 2200 00 4 1200 | 1,200
0 ® © 0 ®
9200




